ignment

ried out. If pren = 0, then there are no pre

course 1= preassign \j,1]; fome= preassig
i i : 3 1 Tt
> comment We now attempt to assign this rxe to the given
Chegk sor time:

SCRUTINIZE: if ro
begin outsiring {1,
ourstring (1, ‘is already scheduled at 1ime’j;

o to NEXT

rurse| < G then

“his course’); ouiinleger (4, course};

oulinteger (1, — rowfcourselj;
end;
if number [lime) -+ wicowrse] > max then
begin outsiring (1, ‘Space i3 not available for cours
time’};

oulinleger (1, coursej; oulstring {1, ‘at
outinteger (1, time); go to NEXT
end;
for ¢ ;= 1 step 1 until m do
if row (i{ = — time then
begin if incidence [i, course] then
begin oufstring (1, ‘course number’j;
oulinteger (1, coursej; outsiring (1, ‘conflicts with’);
outinteger (1,0);
outsiring (1, ‘which is already scheduled at’);
oulinteger (1, lime),
go to NEXT
end if tncidence
end if row;

SATISFACTORY : row|course] 1= —Llime;
number [time] 1= nwmber {time| + w [course];
presel 1= lrue;

NEXT:

end THE PREASSIGNMENT;
MAIN PROGRAM: hegin Boolean arcay available [1:ni;
integer nest;
procedure check (course); inleger course;
This procedure renders un-
available those courses conflicting with the given course;
forj := | step 1 until m do
if incidence |course,j| then avcilable {7} := false
end of procedure check.
For each of the n time periods we select a suitable set of non-
conflicting courses whose students will fit the examination
room;
START OF MAIN PROGRAM:
for time := 1 step 1 until n do
if preset = number{time] > 0 then
begin comment The preceding Boolean equivalence di-
recis the attention of the program initially only to
those times where prescheduling has oceurred. We now
determine the available courses (i.e. unscheduled and
nonconflicting). If course ¢ 1s already scheduled, then
row|i] is negative;
completed := true;
for ¢ := 1 step 1 until n do if row [{] > 0 then
begin available {i] := true; completed := false end
else available (1] := false;
if completed then go to OUTPUT,
if preset then
begin comment

begin integer j; comment

Some courses were prescheduled at
this time. It is necessary to render their conflicts un-
available;

for i := 1 step 1 until » do
if rowele] = —time then check (i)
end prescheduled courses.
We now select the available course with the most con-
flicts, This is essentially the heuristic step and there-
fore the place where variations on the method may be
made;
AGAIN:

sum = 0;
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for i := | step I until i do

if arailobie > sum then

. row

begin next : end mosi conflic
if sum > 0 then

begin comment

5 Swhe r= row

There exists an available course,
we test it {viz 7ie

30

dze. IT 1t does not fit we look

for another;
available {next] 1=

if number (el + winert} > max then go to AGUIY:
{ P w i g
If we

comment are here the course will fit so we use ir;

row {next] = —time;

number (time] 1= number {(time] + winertl;
check (next); go to AGATYN
end sum > ()
end of the time loop;
if preset then
begin presel ;= false; go to START OF MLV
PROGRAM end
In case of prescheduling this takes us back to try the re.
maining time periods.

If we have reached here with compleled true then
courses are scheduled, but the converse may not bet
therefore;

if — completed then
begin completed = true;

for ¢ ;= 1 step 1 until m do
if row (] > 0 then compleled 1= false
end — completed and
end of the main program;
OUTPUT: if — completed then

begin comment The following for statement ouipitis the

courses that were not scheduled;
outslring (1, ‘courses not scheduled’);
for ¢
if row [ > 0 then outinteger (1,1)
end not scheduled.
The following outputs the time period j, the number of 3
dents number{j] and the courses ¢ written at time j;
TIMETABLE: outstring(l, ‘time courses’);
for j := 1 step 1 until n do
begin outinteger (1,5i; owlinieger (1, number[jl);
for ¢ := 1 step 1 until m do
if row|i] = —j then outinteger (1,1)
end j.
The following outputs the courses, the times at which they are
written, and their eurolment;
outstring (1, ‘course time enrolment’);
for 7 := 1 step 1 until m do
if row [{]< 0 then owlinteger (1, i); outinteger (1, row [il};
owlinteger (1, wiz])
else
begin outinfeger{l,i); outstring(1, ‘unscheduled’);
outinteger (1, wiz])
end
end of the procedure

1= | step 1 until m do

enrolment

REMARK ON ALGORITHAI 279
CHEBYSHEY QUADRATURE [D1]
. R. A. Hopgood and C. Litherland
[Comm. ACM 9 (Apr. 1966), 270]
The 33rd line of the second column on page 270 should read:

ifm =4 N\ m s mmax /\ r 2> m — 4 then
A printing error showed A as 7433.
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